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Pathology



[)SIADH can result from which of the following:

A) Ectopic ADH gecreting lung tumor

B) [nflammation in the posterior pituitary

C) Surgical excigion of an adenoma of the (anterior)
piturtary

D) Head trauma

Angwer : A



2-One of the following can be used to distinguish
between pituitary carcinomas and adenomas:

A) Hyperchromatic nucleug
B) Increaged mitotic activity

C) Digtant Metagtagic

Anawer : C



3- Which of the following is the incorrect one
about Sheehan syndrome:

A) Caugeg necrogig in the pogterior pituitary

B) Enlargement ig not accompanied by an increage in
blood supply

C) A cauge of hypopituitariem

D) Oceuring in the postpartum period

E) lachemic injury of the anterior pituitary

Angwer : A



4- Which of the following is incorreet regarding
parathyroid adenomas:

A) Encapaulated

B) Cauges hyperparathyroidiem

C) Rich in adipose tigsue

Anawer : C



5- The most common cause of secondary
hyperparathyroidism:

A) Darathyroid Carcinoma

B) Chronic renal failure

Angwer : B



6- Which of the following is not a cause of
hyperaldosteronism:

A) Renal artery atenogia

B) Hypovolemia
C) Pregnancy
)

D) Dituitary adenoma

Anawer : D



7- All the following are correct about the ingulin
function except:

A) Decreageg gluconeogenegia

B) [ncreages uptake of glucoge

C) Increages glycogen eynthegia
D) [ncreages lipolysig

Anawer : D



8- Which of the following ig incorrect about type |
DM:

A) Autoimmune

B) Occeurg during childhood

C) Ingulin Regigtance

D) There ig genetic predigpogition

Anawer : C



9- Most common cause of endogenous Cushing’s
syndrome:

A) Primary adrenal hyperplagia

B) CRH producing tumor

C) Corticotroph cell adenoma

Anawer : C



|O- Which of the following is incorreet about
diffuse cortical hyperplasia:

A) It oceure in ACTH-dependent Cushing’e eyndrome
B) Usually Bilateral

C) Cauged by adrenocortical adenoma

D) [t increages the production of cortigol

E) Can cauge truncal obegity and moon facieg

Anawer : C



[{- Which of the following is not a cause of Adisson
diseage?

A) Tuberculogig

B) Autoimmune degtruction

C) Metagtatic tumor from the lungg

D) Fungal infection

E) Maggive Adrenal Hemorrhage

Angwer : E



12- Which of the following is incorrect about
phyeochromoecytoma:

A) The definitive diagnogig of malignancy ig metagtagia

) f found extra adrenally they are called paragangliomag
) Leads to hypotengion in [O% of patients
)
)

o

S

t can be familial
E) Sudden cardiac death may oceur

Anewer : C



13- A 2 yr old is presented with cold intolerance
ghort gtature and mental retardation, which of the
right diagnosis:

A) Gull eyndrome

B) Cretinigm

C) Conn gyndrome

Angwer : B



|4~ A patient with diffuse goiter, thyrotoxicosis,
and thyroid stimulating antibodies is also expected
to be seen with:

A) Wide open eyelids but not exophthalmog

B) [nfiltrative peritibial myxedema

C) Elevated TSH

D) lodine deficiency ag it ig the mogt common cauge of

the diceage
Angwer : B



15- A 31 year old woman with recent upper
respiratory infection, enters the ER with fever,
malaige, and a painful neck, expected histological
findings:

A) Hemorrhage with extravagation of colloid

B) Atrophic thyroid folicleg

C) Mixed leukoeytic infiltrate with granulomatous reaction

Anawer : C



16- Which of the following is wrong about Hurthle

cell adenoma

A) Eoginophilic celle

B) The cellg have plenty of mitochondria

C) Large cellg
)
)

D) Well encapsulated
E) More aggregsive than follicular adenoma

Angwer : E



I7- The incorrect difference between papillary and
follicular earcinoma:

A) Clear nuclei (Orphan Annie eye) in papillary carcinoma
B) Deamomma bodieg in papillary carcinoma

C) Hematogenous gpread of follicular carcinoma

D) lodine deficiency ig the cauge of papillary carcinoma
and not in tollicular carcinoma

Anawer : D



|8- Anaplastic cancer is normally agsociated with
which mutation:

A)ERT

B) (2,3) tranglocation

C) TP53
D)RET
E) BRAF

Anawer : C



19- Amayloid deposition in the thyroid is a sign of:
A) Papillary carcinoma
B) Follicular carcinoma
C) Anaplagtic carcinoma
)
)

S

Medullary carcinoma
Lymphoma

™

Anawer D



20- Which of the following is not related to tissue

changes caused by hyperparathyroidism:

A) Kidney etoneg

B) Gallbladder gtoneg

C) Peptic ulcerg
) [
)

S

ypotengion
E) Ogteitig fibroga cystica

Anawer : D



Biochemistry



[- One of the following has different amino acid
sequences, depending on the secreting organ:
A) Inaulin
B) Glucagon

C) Epinephrine

D) Pancreatic peptide

E) Gagtrin

Angwer : B



2- The enzyme that produces dopamine is a:

A) Hydroxylage

B) Methyl traneferage

C) Carboxylage
)
)

D) Decarboxylage
E) Oxidage

Anawer : D



3- Which of the following steroid hormones can be
converted to other steroid hormones:

A) Dihydrotegtogterone

B) A

C) Corticocortigone
D) Estriol

E) Cortigol

dogterone

Anawer : C



4- Which of the following is a direct product from
aromatase:
A) Teatogterone

B) Egtradiol

C) Eatriol

D) Aldogterone
)

E) Corticogterone

Angwer : B



5- Which of the following can be used to terminate
epinephrine signaling:

A) Diggociation of the hormone

B) GTOage activity of Ca cubunit

C) Hydrolysie of cAMP

D) Phogphorylation of the hormone bound-Receptor
tollowed by binding to - Arrestin

E) All of the above

Angwer : E



6- Which of the following is not a challenge
encountered in the biochemistry of the endocrine

system:

A) Hormone binding to the receptor hag to be done with high affinity
however should also be digplaceable.

B) Many Hormoneg have the eame gecond meggenger.

C) Hormones have gimilar etructureg to substances found in blood
and other body fluid.

D) Hormoneg are diluted in the blood.

E) Endocrine hormoneg have slower responge and longer duration in
compared to the nervous tigaue.

Angwer : E



7- Which of the following is a characteristic of
steroid hormones:

A) Short half life
B) Hydrophilic
C) Don't need a trangporter protein for trangportation

through the circulation
D) Slow acting

Anawer : D



8- Which of the following hypothalamic hormones
i the odd one:

A) TRH

B) Growth hormone releaging hormone

C) Dopamine

D) Corticotropin releaging hormone

E) Growth hormone inhibiting hormone

Anawer : C



9-Which of the following (characteristics) is not an

advantage of using calcium in cellular pathways:
A) Different concentration between different cell
compartmentg

B) Up to & bonds to oxygen

C) Binds tightly to proteing

D) Can be trangported through different compartmentg
through caleium channelg

E) Can cauge conformational changes in proteing

Angwer : D



[O- Which of the following is wrong regarding thyroid
peroxidage enzyme:
A) Inhibited by Cyanide
) [nhibited by Propylthiouracil
C) Oxidation of iodine
D) Coupling Of threonine
E) lodination of thyroglobulin

'S

Anawer : A



Pharmacology



[- All the following are the therapeutic uses for
hormones except:

A) Exceaq hormone gecretion

B) Diagnogtic uge

C) Hormone replacement therapy

D) Bronchial agthma

E) Treatment for infectioug digeages

Angwer : E



2- Which of the following is not a toxic effect of
T3:

A) Heat intolerance

B) Tremor

C) Brecipitation of angina attacke D) Diarrhea

E) Logg of appetite

Angwer : E



3-Acute hypoparathyroidism is best treated by
adminigtration of:

A) Vitamin D

B) Caleium galte
C) calcitonin
D) Etomidate
E)OTH

Angwer : B



4- The drug that is used for the treatment of
hypoaldosteronism:

A) Hydrocortisone

B) Dexamethagone

C) Fludrocortigone

Anawer : C



5- Which drug is used in the management of high
blood glucose and increases the fertility of diabetic
females:
A) Metformin
B) Raniregtat
C) Octreotide in low dogage

)

D) Alocril

Angwer : A



6- A 65 old man that is undergoing a large insulin therapy

to control his highly elevated glucose levels is presented with

hypertension, beta blockers are not recommended as the

first line therapy although not contraindicated, this is

because:

AT
BIT
C)T

ey can

ey can

hey can

ead to
ead to
ead to

nypoglycemia

yperglycemia

ypoglycemia & hyperglycemia

D) Beta blockerg are not that effective in the treatment of

hypertengion

E) [t can magk hypoglycemia symptoms
Angwer : E



7- Which of the following is true regarding
calcitonin:

D

e g gteroid hormone

O

)
) Increageg the rate of bone turnover
C) Requlates hypercalcemia

)

D) Increages renal reabgorption ot Ca and PO4

Anawer: C



8- The major/most dangerous side effect of ingulin
therapy is:

A) Hypoglycemia
B) Hypokalemia
C) Lipodygetrophy
D) [ndurationg

Anawer: A



9- Dry cough is an absolute contraindication with
one of the following drugs:

A) Cortigol
) Liginopril
)

O

™)

L0gartan
D) Bromocriptin
Anewer: B



[O- One of the following is incorrect:
A) TRH can be uged to succesefully treat certain typeg

ot hypothyroidism.

B) Druge that work on the eynthetic machinery of

hormoneg tend to have more prolongec

C) TSH ie compoged of a non glycogy
and a gylcogylated beta chain.

Anawer : C

ongete of action.
ated alpha chain



[{- Which of the following is wrong about cortisol:

A) Orally ineffective

S

D) Have anti 3

E) O4% bounc

Anawer : E

Have anti inflammatory effect

lergy effects
to albumin and 6% are free in the blood

)
)
C) Have immunoguppresgive effects
)
)



[2- Teriparatide is a:

A) Deaklegq Ineulin

B) Recombinant [GF-I
C) Recombinant GH
D) Recombinant OTH

Anawer : D



13- Which of the following drugs has been recently
approved to treat obesity:

A) Mitiglinide
B) Tirzepatide

Angwer : B



|4~ Which of the following drugs is used for ingulin
pumps:

A) Inaulin glargine

B) [ngulin zine prompt

C) Ingulin agpart

Anawer : C



|5- One of the following is correct about the
treatment of hyperglycemia:

A) Sulfonyureag are uged to treat ketoacidogig
B) Protamine decreages the abgorption of ingulin
C) [ngulin ig orally effective

Angwer : B



|6- Which of the following is major limitation in the
synthesis of glucocorticoids:

A) Suppreagion of the hypothalamic pituitary axig
B) Water and godium retention

Angwer : B



['7- Which of the following best describes
Propylthiouracil’s mechanism of action:

A) Inhibite iodine uptake by thyroid celle

B) Inhibite releage of T3/4 from thyroglobulin
C) Inhibite releage of T3/4 from thyroid celle
D) [nhibite iodination and coupling of the tyrogine

regidues on thyroglobulin

Anawer : D



|8- A drug used for treating Cushing’s syndrome
and is a diagnostic tool for the testing of
glucocorticoids:

A) Trilogtane

B) Dexamethagone

C) Metyrapone
)

D) Candegartan

Anawer : C



[9- Which one is not under the control of the
hypothalamus:
A) Prolactin
B) LH
C) Growth hormone
)
)

D) Human chorionic gonadotropin
E) ACTH

Anawer: D



2 0- Which of the following is a synthetic
intermediate acting glucocorticoids:

A) Cortigone

B) Orednigolone

C) Corticogterone

D) Triameinolone

E) dexamethagone

Anawer : B+D



PBL



[- 34 yrold RFG = 500 definitive FBG= (45
the best diagnosis for Diabetes type [:

A) Anti-GAD antibody titer
B) Ketonuria

C) 10 Kqg weight loge

D) Polyuria

Angwer : A



2- Most reliable test to confirm diabetes:

A) Random Blood Glucoge tegt of 185 mg/dL
B) Family higtory of DM2

C) Fagting blood glucoge test of 122 mg/dL
D) HbAle of 82%

Anawer : D



Practical



[- What is the disease for this histological section

Angwer :
Haghimoto thyroditie




2 - ldentify the disease:
A) Medullary carcinoma
B) Aplastic carcinoma

C) Follicular carcinoma

D) Papillary carcinoma

Anawer : D



3- ldentify:

A) Mixed active and
inactive Follicles

B) Active thyroid with
the eame follicle gize
Clnaetive thyroid with
the eame gize follicles
Dlnactive thyroid with
different gize follicleg
E) Active thyroid with different foliicle cizes
Angwer : E




4-What is the hormone that is secreted from this gland:
A) Caleitonin

B) Aldogterone

C) Thyroid hormones
D) Calcium

E) OTH

Angwer: E



5- ldentify:

A) Adrenal, zona fagciculata
B) Adrenal, medulla

C) Dituitary, pare digtalig

D) Adrenal, zona
glomeruloga

Anawer: D



6- What is the structure that ie not found in thie
gection:

A) Sinugoid

B) Containing gecretory
granuleg

C) Secretory celle

D) Medium gized artery
E) Reticular tiggue/fiberg

Ancwer : D
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8- ldentify:

A) Anterior alone

B) Dogterior alone

C) Parg intermedia

D) Anterior + Dogterior
lobeg

Angwer : D
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